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PAPER-I

POPULATION STUDIES

Signature and Name of Invigilator

1. (Signature) OMR Sheet NO. : .o,
(Name) (To be filled by the Candidate)
2. (Signature) Roll No.
(Name) (In figures as per admission card)
Roll No.

Bl1lSHE

Time : 1Y/, hours]

(In words)

[Maximum Marks : 100

Number of Pages in this Booklet : 16

Number of Questions in this Booklet : 50

Instructions for the Candidates

1. Write your roll number in the space provided on the top of | 1.
this page. 2.

2. This paper consists of fifty multiple-choice type of | 3.
questions.

3. Atthe commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(i) To have access to the Question Booklet, tear off the

paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal and do not accept an
open booklet.

(if) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the
Question Booklet will be replaced nor any extra
time will be given.

(iii) After this verification is over, the OMR Sheet Number | ,
should be entered on this Test Booklet. '

4. Each item has four alternative responses marked (A), (B),
(C) and (D). You have to darken the circle as indicated below
on the correct response against each item.

Example :

where (C) is the correct response. 5.

5. Your responses to the items are to be indicated in the OMR
Sheet given inside the Paper | Booklet only. If you mark
atany place other than in the circle in the OMR Sheet, it will

not be evaluated. 6.
6. Read instructions given inside carefully. 7.
7. Rough Work is to be done in the end of this booklet. 3.
8. If you write your Name, Roll Number, Phone Number or

put any mark on any part of the OMR Sheet, except for the
space allotted for the relevant entries, which may disclose
your identity, or use abusive language or employ any other
unfair means, you will render yourself liable to
disqualification.

9. You have to return the test question booklet and Original
OMR Sheet to the invigilators at the end of the examination
compulsorily and must not carry it with you outside the
Examination Hall. You are, however, allowed to carry
duplicate copy of OMR Sheet on conclusion of examination. | 10.
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POPULATION STUDIES
Paper — 11

marks. Attempt all the questions.

Which Census onwards 0-6 age group
is considered as illiterate population in
India ?

(A) 1981 (B) 1991
(C) 2001 (D) 2011

According to the Sample Registration
Bulletin December 2011, which among
the following States has lowest infant
morality rate ?

(A) Kerala
(B) Goa

(C) Manipur
(D) Tripura

Which State among the following has
shown highest death rate as per SRS
Bulletin December 2011 ?

(A) Goa

(B) Himachal Pradesh
(C) Nagaland

(D) Meghalaya

Among the following States, which has
highest percentage decadal growth rate
during the 2001 — 2011 ?

(A) Arunachal Pradesh
(B) Bihar

(C) Rajasthan

(D) Madhya Pradesh

As per 2011 Census of India, which is
the overall sex ratio of the country’s
population ?
(A) 820
(C) 920

(B) 840
(D) 940

Latest Sarkari Jobs, Govt Exam Results,
Vacancies and updates on one click

Note : This paper contains fifty (50) objective type questions, each question carrying two (2)

Which one of the following formula
gives doubling time (t) of a given
population ?

2 log2

) =2 @) -
r r

loge2 log?

_ _log-

(C) t= o (D) t= o

Which among the following rate is
referred as probabilistic rate ?

(A) Migration rate

(B) Crude death rate

(C) Marriage rate

(D) Crude birth rate

Which among the following is not a
non-probability sampling ?

(A) Accidental Sampling

(B) Purposive Sampling

(C) Quota Sampling

(D) Simple Random Sampling

Which among the following measure
was used by ‘Rele’ for fertility
estimate ?

(A) Reverse Survival Method

(B) Child Woman Ratio

(C) Parity Ratio Methods of Fertility
(D) P/F Ratio

Death rates are standardized to
(A) eliminate the differential

influence of one or more
variables.

(B) obtain an estimate of the ideal
rates.

(C) correct under registration of
deaths.

(D) obtain correct estimate of actual
rate.



1.

TAAGAT AT
Ty — 11
o : =9 uvo H we (50) S-foeedia U | U U9 T (2) ik € | |t el ST |

ARA H T8 SO & 0-6 3 & H
ST TG & T H T A & 2

(A) 1981 (B) 1991
(C) 2001 (D) 2011

e IREIE Jeifes R 2011 &
IR, FHfciEd ¥ 9 f6a T59 ° forgg

Tg X a9 & 2
(A) HA
(B) TmeT
(C) mfTgR
(D) Frg

TR, goifed, @@ 2011
IR, =fefad & ¥ fHa T @t
3fferehaT gog ST 2

(A) TeT

(B) Team=e wew

(C) -nmeis

(D) wHae™

frfefad & 9 9 T 9 2001-2011 &
TR IDHIT Jheg T ITITH WA & 2
(A) 3OS TR

(B) fwr

(C) TS=EmE

(D) T WS

qRA S SFIUAT 2011 & AR, 97 Hh
STIEEAT T el oI AT el 85T qent
W feohet Afgemmsti 1 € 2

(A) 820 (B) 840

(C) 920 (D) 940

6.

ffefad § & % 91 R SO
I A G S HA € 2
2 log 2

(A) tzl—org— (B) t= Ofe

loge2 1_023
) t= o (D) t= o
frefefiad & @ i 9 5T TiTekar gt
T|WE?
(A) WoH TT
(B) eTmtd g X
(C) faamwE #l T
(D) wiifed 5 8T

Frfafad @ Wigehdr uiaaa siF qr
T2

(A) TRRH UTaaa

(B) VI U=

(C)  =hier (e wfereram

(D) A AGFH A=

Frefefad & & fohae ST o grT
TS 3T o To1d foRaT a7 o7 2

(A) Uida SRSt fafy

(B) aTo-Hfget

(C) TS ! T Far fafy

(D) P/F 3T

I W H B9 HROT F o Aewsa

fopam ST 7 9

(A) TS AT SART W & fadge qomea ah
T A

(B) 3TE¥ T 1 ST W L

(C) g =& & IRdgs ¥ FH
TSTIEhYUT i ik

(D) a3 T el SHH I
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11.

12.

13.

14.

15.

What is population momentum ?

(A) Tendency of a population to
continue to  decline after
replacement level of fertility has
been achieved.

(B) Tendency of a population to
continue  to grow  after
replacement level of fertility has
been achieved.

(C) Tendency of population to move
up and down after reaching
replacement level of fertility.

(D) It is same as population
stabilization.

Which among the North-Eastern States
of India has the highest infant mortality
rate during 2005 — 2006 ?

(A) Nagaland (B) Tripura

(C) Meghalaya (D) Sikkim

Which among the North-Eastern States
of India has the highest literacy level
as per 2011 Census ?

(A) Tripura (B) Mizoram
(C) Meghalaya (D) Manipur

What is the estimated share of disabled
persons in India according to 2001
Census ?

(A) Lessthan 2%

(B) Less than 10%

(C) Lessthan 15%

(D) Less than 5%

arrange the following States in
descending order of child sex ratio
according to 2011 Census ?

(i) Maharashtra

(1)) Gujarat

(iii)) Manipur

(iv) Andhra Pradesh

Codes :

(A)  (v), (i), (1), (ii)

®B) (i), (i), (), (iv)

(C) (i), (1), (i1), (iv)

D) (iv), (i), (iii), (iv)

16.

The mean length of generation is

affected by

(A) Age specific fertility rate and
reproductive span of women.

(B) Gross reproduction rate and
average age of women giving
birth.

(C) Opverall fertility and mortality
levels and the proportional
distribution of fertility into each
age specific rate.

(D) Survival of female babies born to
those mothers and age of their
marriage.

In intermediate variables framework

developed by Davis and Blake which

among the following is not

“Intercourse variable” ?

(A) Age of entry into sexual union.

(B) Permanent Celibacy : Proportion
of women never entering sexual
union.

(C) When unions are broken by
divorce, separation or desertion.

(D) Foetal mortality from involuntary
causes.

Which one of the following is not
matched correctly ?

(A)  Average age of : Length of
child generation

(B) A group of : Household
people related
to marriage or
adoption

(C)  Net : Replacement
Reproduction level
(NRR) equal to
unity

(D) A married : Zero parity

woman having
no birth
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. STEE TAEET () FE 2

(A) TSHEAT HT UGN TR U @l
I & T TG & Gad TR
Ee)

(B) USHAEAT T UG R W &l
STH & 918 SHEET 6 qqd gig e
i et

(C) USHAAT T U &R AT &
T % IS SHEE T 3T 98
1y

(D) o& I & § 59 & e
[EREaw)

IRA % I gt T ° F T4 2005-2006
7 ferae fore] 9o X Seaaw § 2

(A) FmTete (B) Frga

(C) wam™ (D) faferm

2011 S VAT & 3FAR 9RA & 3T
& T § 9 e 3Tead deRar ')
g2

(A) B
(C) wag

(B) THsIRH
(D) =R

IRA § 2001 3 ST & AR TTeheti
ST BT ST T fefeeTr & 2

(A) 2% 9 FH

(B) 10% & %9

(C) 15% 4 HH

(D) 5% 9@ &9

qRA N 2011 FI SFUAT % IR ST
o1 /U & oMyR W i wsat
(i) HENTE
(i) Tod

(i) HOTT

(iv) 3Ty eer

E 4

(A) (), (iid), (1), (ii)
(B) (i), (iid), (i), (iv)
(C) (i), (1), (i), (iv)
(D) (v), (i), (i), (iv)

16.

9E o 3t T e yTfad Bt § 9

(A) 31y fafere usH=ar 3T 3R fomt &
ST BT

(B) WA TS T AR T B ST o
& gu Tt o 3iad 3y

(C) Fo1 USTHaT 3R g W& & &R
3R vw g fafere X & fovg
TS ST ST FoaRor

wﬂqwﬁlﬁaﬂﬁmq—rﬁﬂﬁwaﬁaﬂ
U |

(C) 19 T ToTeh, JAFRRAT a1 TReATT
FRITE ST € |

(D) e HROT T Yo & |

frferfaa & @ 7 o gafed 72 & 2

(A) S @ eiEd e @
g foer

(B) foame o seen MY P
o gt
AT 1 THE

(C) THRHHRE Wi &
et oot LIRS
(T &R W)

(D)  fomnfed & frE= I wHA
fopdlt sr=at = 571
et fea
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19.

20.

21.

22,

Which one among the following term
refers to number of children an average
woman can bear in her reproductive
span ?

(A) Fertility

(B) Fecundity

(C) Real birth rate

(D) Crude death rate

If sex ratio of birth is constant at 1.05,
then the Gross Reproduction Rate
(GRR) can be calculated using Total
Fertility Rate (TFR) by the formula

(A) GRR = 1.019(;1;FR
(B) GRR= 1015%
() GRR= 1.029(;[“5FR
(D) GRR= 2015%

Which one of the following statements
is least accurate as they relate to life
expectancy ?

(A) Life expectancy in some
countries has actually dropped
over the past two decades.

(B) Life expectancy in Japan is about
five percent longer than in the
United States of America.

(C) Life expectancy in the United
States of America for people
born in 2002 is about 77.3 years.

(D) Life expectancy is by nation and
varies insignificantly based on
race or sex.

Who are the two early conflict theorists
who refuted the Malthusian Theory,
because they recognized that farming
could match food supply needs of
population ?

(A) Edwin Sutherland and Donald

Cressey

(B) Robert Merton and Michael
Burraway

(C) Auguste Comte and Henri Saint
Simon

Karl Marx and Fredrich Engels

Latest Sarkari Jobs, Govt Exam Results
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23.

24.

25.

26.

If country A has a higher life

expectancy than country B, but A has

higher crude death rate, it is likely that

(A) A’s population is younger than
that of B.

(B) A’s population is older than that
of B.

(C) A’s population has a high infant
mortality rate.

(D) None of the above is probable.

The death rate of a stationary life table
is 10, then what would be life
expectancy among the following ?

(A) 65 years (B) 100 years
(C) 50 years (D) 75 years

Assertion (A) : Fertility transition in
the Southern States of India has
been found relatively faster as
compared with the transition
taking place in Northern States.

Reason (R) : This is due to relatively
higher female empowerment in
the Southern States as compared
with the empowerment of the
women in the Northern States.

Codes :

(A) Both (A) and (R) are correct and
(R) is correct explanation of (A).

(B) Both (A) and (R) are correct but
(R) is not correct explanation of

(A).
(C) (A)is true, but (R) is false.
(D) (A) is false, but (R) is true.

Which among the following does not
explain the law of urbanization ?

(A) Push and Pull factors

(B) Dispersal and Segregation
(C) Distance-Decay function
(D) Laws of gravity



19.

22.

frfafaa O & i |1 38 Hobel Hidl €
o U 3 Afeet U US eTEry |
fehe sl Bl ST < Hehell € 2

(A) IS

(B) ST

(C) oo 5T &

(D) 3TeNTYd §og T

T 1 % T o7 3O 1.05 W R
&, A Fehel USH X (ST.3TX.3TR.) I oA
TS ST (31U, 3TR.) 1 ST X gT
T T g1 uiehford foa ST Tehe & 2
1.00 2.0, 3T,

1.05

1.00
1.05 1.U® 3R
1.00 2.0, 3T,

2.05

1.00
2.05 .TH 3R,

(A) SRR, =
(B) ST.3R3R. =
(C) SHIR3IX. =

(D) ST.3R3R. =

. Wi FEAfafeg w2 Sieq g 9

T € T O A 91 99 BT TEl § 2

(A) F9 M A Sfem yemwn f=sd a
I arad B IR Y |

(B) IR T[T SERAT H qor H
S § Siaq e 9te wtaed
SR |

(C) Tge TF R H ay 2002 H
S AN S STEd Tee o
773 a9 F |

(D) Siia= TN I FRT T 2t & 3
TG T T o 3TUR WY §ga &Y
uRafed gt € |

frfefad & ¥ f6 31 5% FagTemet 3

A AT [GgT 1 @Ueq fwar Fith

ST BT o7 fob Wl a1 W, STHEET i

EGIE) T STETTHATS Bl TS HT

T

(A) USlad TE¥eie 3R TS shdll

(B) e T AR HTgehet T

(C) 3T iR 31X T TS AIZHA

(D) el AT 3T TheRe Usted
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23.

24.

25.

26.

T I A HN G- TR, 397 B JorT

T 3= €, W I A T SR Jog

a1y &, T 8 |wad § s

(A) T3 A I STHEEAT I B i SHEET
& T | AR g |

(B) T A H U I B I o H
SRS ¢ |

(C) T A & G H: B gF T
SHE |

(D) SUEE H ¥ HIE GG el ¢ |

I ek Sfiem arfeteh & 9eg T 10 €,
ar fafefaa @ @ Sfem ueamn &= &/
g 2

(A) 65

(B) 100 ¥

(C) 509y

(D) 759

AU (A) : IRA & IRIOT TS A
TSl IRAT W qoHTs €9 o
SITET g U T ST ST A4 H
2l W IR & |

FRUT(R) :TE SO T A HAigemsit
o TRITSRISHROT St T § SHevft et
H goMicA®s ®9 ¥ 3I=d  Higel
TTFTRT & HRIT € |

B

(A) (A) 3R (R) SHI W & 3R (R),

(A) Tl TEt AT T |
(B) (A) 3R (R) T Wl & W (R),
(A) T TE =T T E |
(C) (A)TF &, W (R) 3IAE |
(D) (A) 3T ¢, W] (R) TAE |

frafafad & @ =9 @ ISR
(A1 RSN o 2w i e Té e € 2

(A) 99 TH I BRH



27.

28.

29.

30.

Assertion  (A) International
Migration leads to rise in
productivity in both the sending
and receiving countries.

Reason (R) : Emigrants are receiving
better wages.

Codes :

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are true but (R)
is not the correct explanation of
(A).

(©) (A)istrue and (R) is false.

(D) (A)is false and (R) is true.

Which of the following countries has
the highest out migration of the nursing
professionals ?

(A) The Philippines

(B) Pakistan

(C) Bhutan

(D) India

Which of the following did not give a
model of city structure ?

(A) Homer Hoyt

(B) E.W. Burgess

(C) Harris and Ullman

(D) Michael & Todaro

Match the demographers in List —
with their contributions in List —II :

List—1 List — 11
a. Enke 1. The Limits to
Growth Theory
b. Easterlin 1. Cost-benefit
Analysis

c. Liebenstein iii. Cn-Cd Framework
d. Meadows  iv. Demographic
Transition Theory
Codes :
a b c d
(A) ii i iv 1

B) i i i iv
© i i i v
(D) iv i il i

31.

32.

33.

Which of the following is known
for  his contribution  towards
theorising social composition of
population ?

(A) Goldsteen and Sly

(B) Shyrock and Siegal

(C) Talcott Parsons

(D) D.J. Bogue

In which stage of industrialization
given below the fourth stage (4) of
Demographic Transition Theory would
occur ?

(A) Advanced Industrialization and
Urbanization stage

(B) Pre-industrial stage
(C) Early Industrial stage
(D) Post-industrial stage

Match an item from List — I with an
item from List — II :

List -1 List — I1
a. Theory of i.  William Brass
Stable
Population

b. Singulate Mean ii. Lotka
age at marriage

c. Intermediate  iii. Hajnal
variable
framework
d. P/F Ratio iv. Davis and Blake
Codes :

(A) i i i v

B) i i i iv
©) ii i iv i
(D) iii i i v
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27.

AUFHU (A) : TR Yoo, U et
TN W HRA et AT S A
TG g i 3T T AT § |
FROT(R)  : SN S8ek ASigdd o
HAE |
T
(A) (A) &R (R) IHi & & 3R (R),
(A) & TE A |

(B) (A) ¥R (R) IH 7 & W (R),
(A) F TEl =T T T |

(C) (A)TTE 3T (R) 3TAT |

(D) (A) 3T E AR (R) AT |

fefafea & @ fow 2w # afw
I o d1E ToreT bl G ATaehdd
g2

(A) TRicTaE=g

(B) &=

©) %2

(D) WNa

FHfeiEd 5 9 fhdd TR g a1 G3eET
T Hget A&l fgar o 2

(A) T ETE

(B) =g g

(C) 2w wd 3T

(D) HEHA TS TSR

-1 =t - 11

a. T i. gfs fagra =t
e

b. TR ii. SNT-ome foweyor

c. TN iii. Cn-Cd ®o@m

d. ge iv. SHIThehIT T
fag=

E

©) 1 il 1 v
D) iv 1 i i
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31. TfafEa § 9 o SHE@ & AHISE

T & (HgTeor & ° e o

ot ST ST € 9

(A) TeSEH Ud wIE
(B) I UE HTeA
(C) CoThiE URETH

(D) SISt &

32. 3irEnfmeniehtor ot Fefaiad serenst § 9

SR TshHUT fagT= bl el 3reree
e Hied Bl & ?

(A) ST STENNTHET 3R AR
i STEET

(B) TE-3i=NfTER aTarwen
(C) YR 3Tt staen

(D) STRHICA ST STaren

33, gE - 1 W oS R gE - [ ° T80 % 9

gHferd = :
Tt -1 it - 11
a. T (Stable) 1. faferaw s
STHAEAT
s
b. TEE FTHT  ii. ARCH
THeT ST 3G
c. WA =X Al iii. ST
d. P/F o iv. Sfaw ud =i
E T

(A) i i i v

B) i i i v
© i i v 1
(D) 1ii il



34. What is the main reason for the loss of

3s.

bio-diversity in the mountains ?

(1) Indigenous population’s
indiscriminate felling of trees
and animal hunting.

(i) Poaching and wood-cutting by
outside contractors.

(ii1)) Natural calamities.

(iv) Large scale mining and laying

down of road and railway
network.
Codes :
A) (), (i), (i), (iv)
B) (), (i), (iii)
(©) (i), (iv)
(D) (), (ii1)
Match List — I with List —1II :
List -1 List — IT
(Major Air (Sources)
Pollutant)
a. Carbon 1. Incomplete fuel
monoxide combination (e.g.
two stroke engine).
b. Sulphur ii. Smoke from
dioxide domestic,
industrial and

vehicular sources.

c. Oxidants iii. Emissions  from
and ozone motor vehicles,
photochemical
reactions of
nitrogen  oxides
and reactive
hydrocarbons.
d. Lead iv. Emission from
motor vehicles.
Codes :
a b c d
(A) 1 i v il
B) i i 1 v

(C)i i i v
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36.

37.

38.

At what rate tropical forests are
vanishing annually in the world ?

(A) 15 million hectares
(B) 13 million hectares
(C) 17 million hectares
(D) 19 million hectares

Match item in List — I with an item
from List — 11 :

List -1 List — 11
a. Capital 1. A pattern of
Goods behaviour with a
particular position
in a group.
b. National ii. A group with
Income common distinct
culture.
c. Role iii. Means of
production.
d. Society iv. Money value of all
goods and services
in a country in a
year.
Codes :

a b C d
(A 1 11 1il v

B) ii iv i i
© i i iv il
(D) ii i iv i

Assertion (A) : Fertility is declining in
non-contraceptive population.

Reason (R) : Better empowerment of
women in the country.

Codes :

(A) Both (A) and (R) are true, and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true but (R)
is not the correct explanation of
(A).

(C) (A)is true, but (R) is false.

(D) (A) is false, but (R) is true.



34, ToAl W SE-{aieeer & g9 & W HR 36. fova o Swrhfes o ot w9 @ fopg
frefofad o 9 s & 2 TATAA LT ?
()  S¥iE S gR TSl Sy (A) 15 faferm gz
R 37w o TR (B) 13 faferam g
(i) TR THRRT FRT AFE FHeAl 3R (C) 17 Taferam goex
e :“E""W (D) 19 foferam gy
(iii)  UTPTaeh URTE
(iv) a@ﬁnﬁq;qffwm@w 37. g -1 H W1 A gt — 11 | 987 % 9
e o G =1
FT et - 1 | g%ﬁ-n
(A) (@), (i), (iii), (iv) a. TSI Y i, WE H U [oRI U
B (i) (i), (iii) ?ﬁ;ww
EIC); g;)(ﬁ:;) b. TR 3 ii. TR ! He e
’ 3T WE&HIT &
. c. YqrHeR iii. SCHEA & AT
35. A — I o0 gt — [T 3 a1 Faford o P, .
et - 1 Tt - 11 G TR AT
(=T a1 (&) TareT s
LEAED) "
a. FET i. 3TqUT TE AR FH
T sfferIEE (3T /1 LR a b ¢ d
EEE)) (A) i i i v
b. T ii. B, ST qen (B) iii iv i i
T RS A Al O g3t (©) i i iv i
c. RASSH i HieX Al | (D) i i v i
3T ST IS, ATEZSH
eFAESH 3T 38, arfyme (A) : ™ FRuE ® ST @
%m%eag‘s@ FH Il G H YS9 &l
I @WE |
(R) :39 H Higenel & sea
TR HITTRTHIOT |
d. 9/ (@) iv. AT a9 SedsH %z
B (A) (A) 3R (R) A ¥ ¢ 3 (R),
a b ¢ d (A) &l T&t AT |
(A i i iv i (B) (A) 3R (R) T A & W] (R),
B) i i i v (A) 1 Tl =T T & |
©) i i il v (C) (A)FEE W (R) FTAE |
D) i iii (D) (A) A E, TGR)TIE |
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39.

40.

41.

Assertion (A) : Sustainable development
is not an achievable goal in
India.

Reason (R) : Skewed resource use,
high population growth and
growing purchasing power are
deterrents towards sustainable
development.

Codes :

(A) Both (A) and (R) are true, and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true, but
(R) 1s not correct explanation of
(A).

(C) (A)is true, but (R) is false.

(D) (A)is false, but (R) is true.

The concept of a ‘biovillage’ involves
(i) Human centred development.

(1)) Improvement of land and water
quality.

(i11) Improvement in the income of
farmers.

(iv) Improvement in transport and
communication.

Choose the correct combination :
(A) (), (i), (iii)

(B) (i), (iii), (iv)

(C©) (), (ii1), (iv)

(D) (@), (i)

Which of the following is not a
measure of socio-economic status ?

(A) Physical Quality of Life Index
(B) Human Development Index

(C) Gender Empowerment Measure
(D) Body Mass Index
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42,

43.

44.

45.

Which one of the following is not a
spacing method of family planning ?

(A) Hormonal Method

(B) Barrier Method

(C) Vasectomy

(D) Intrauterine Device (IUD)

In which year, the Government of
India launched the Reproductive and
Child Health (RCH) Programme ?

(A) 1994
(B) 1995
(C) 1996
(D) 1993

Which of the following countries is
promoting larger families because of
ageing population and low fertility rate ?

(A) India

(B) France

(C) United States of America
(D) China

Which one amongst the following
is not a Millennium Development
Goal ?

(A) Improve Maternal Health

(B) Combat HIV/AIDS, Malaria and
other diseases

(C) Ensure
Sustainability

Environmental

(D) Develop a Local Partnership for
Development



39.

APTHAT (A) : IR H RO foehrd Tt
H AT T A E |

HROT(R) :foum dame= 3w, 3=
G g 3R Fedl g% W
YRy o o R & |

E

(A) (A) 3R (R) IHT ¥ & 3R (R),
(A) Tt &l AT |

(B) (A) 3R (R) I 7 & W (R),
(A) Tl TE AT FET 7 |

(C) (A)TAE, R (R) AT |

(D) (A)3TA T, R (R) TAT |

N A T STTHRT T TR Bl & 2
(i) AT Hrsa fon

(i)  fF T STt e § GER
(i) foramT =t o | ghg

(iv) URERA qor G9R o guR

TE TS BT T A

(A) (i), (i), (iii)

(B) (i), (iii), (iv)

(©) (), (iii), (iv)

D) (@), (i)

. Tfafea 9 @ =7 @ gmtees et

et o1 AT =l & 9

(A) ST g i s ToTer

(B) T (I GaAHS
(C) SIS TRITRIRIOT H1T

(D) & AN IFEEE  SEAH
ESCEIED

42.

43.

44.

4s.

IRER s 6t Wi I iee 9gid
frferfaa 4 @ =9 @ @i € 2

(A) FREA g fafy

(B) 3y fary

(C) o ot

(D) e feard (32l

ORG U USHH Ud o @R HE%H
ORAT TR A 69 a9 § yreT foha 2

(A) 1994
(B) 1995
(C) 1996

(D) 1993

SHEET & TeH 3R A U W F
FHIOT I T I FF IRART i Tl § &
T

(A) ¥R

(B) W

(C) Fwaxy

(D) ==

et § ¥ %9 o1 Seans faem o
T &2

(A) WG TR GURAT

(B) TUHIRAN/USH, FelRAT IR I
Tt =T foriy AT

(C) TATERTI YROTEar G e

(D) foepra & A WERRT faestad
AT
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Based on the following table, answer Question Nos. 46 — 50 :
Table : Poverty levels for Major Indian States 1973 — 74 to 2004 — 05

State 1973 — 74 1993 — 94 2004 — 05
1. | Andhra Pradesh 48.86 22.19 15.8
2. | Assam 51.21 40.86 19.7
3. | Bihar 61.91 54.96 41.1
4. | Gujarat 48.15 24.21 16.8
5. | Haryana 35.36 25.05 14.0
6. | Karnataka 54.47 33.16 25.0
7. | Kerala 59.79 25.43 15.0
8. | Madhya Pradesh 61.78 42.52 39.0
9. | Maharashtra 53.24 36.86 30.7
10. | Orissa 66.18 48.56 46.4
11. | Punjab 28.15 11.77 8.4
12. | Rajasthan 46.14 22.41 22.1
13. | Tamil Nadu 54.94 35.03 22.5
14. | Uttar Pradesh 57.07 40.85 33.1
15. | West Bengal 63.43 35.66 24.7

46. Arrange the following States in ascending order (from low to high) in terms of poverty level
for the year 1993-94 :

(1)  Andhra Pradesh (1) Gujarat
(i11) Karnataka (iv) Punjab
Codes :

(A 1 i i iv

(B) iv i il ii

©) 1 i iv i

(D) iv i i il
47. Which of the following States showed highest level of poverty during the year 1973-74 ?

(A) Kerala (B) Madhya Pradesh
(C) Orissa (D) West Bengal
48. Which State among the following has shown lowest poverty in Indian States during 2004-05 ?
(A) Haryana (B) Punjab
(C) Andhra Pradesh (D) Assam
49. Arrange the following States in descending (high to low) order of level of poverty during
2004-05 :
(1)  Andhra Pradesh (1i1)) Punjab
(i11) Kerala (iv) Haryana
Codes :
(A) it 11 v 1
(B) i il i v
©) iv i i il

D) i i iv il
50. Which of the following State has shown drastic decline in poverty from the year 1973-74 to

2004-05 ?
(A) Kerala (B) Punjab
(C) Karnataka (D) Andhra Pradesh
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FATaREa atfetehT & 3MUR W A 153 U9 &1 46 — 50 FHT ST

ARt : A HRA It & 1w fe=ar & ¥ (1973-74 9/ 2004-05 )

T 1973 — 74 1993 — 94 2004 — 05
1. ATY U9l 48.86 22.19 15.8
2. | emEm 51.21 40.86 19.7
3. | @R 61.91 54.96 41.1
4. | rma 48.15 2421 16.8
5. | gramm 35.36 25.05 14.0
6. | FARH 54.47 33.16 25.0
7. | e 59.79 25.43 15.0
8. | T W 61.78 42.52 39.0
9. | HWENE 53.24 36.86 30.7

10. | afiftewn 66.18 48.56 46.4

1. |oom& 28.15 11.77 8.4

12. | I==m 46.14 2241 22.1

13. | dHeg 54.94 35.03 22.5

14. I USRS 57.07 40.85 33.1

15. | ofv=m s 63.43 35.66 24.7

?;%ﬁaﬁwq‘iaﬁaﬁ 1993-94 & T FEAT TR & T TR (e § Se) 69 | oFarerd

(i) 3T TR (i) TR
(ili) FHAeH (iv) oI
&<

(A) i i i v

(B) iv i i i

(C) i dii  iv i

D) iv i i i
fr=fefad & | foog Tsa= 99 1973-74 o SR TS ol STaad &Y 90T 2

(A) (B) T WS

(C) erifegan (D) ufyee et
frfafaa & @ fra T3 3 99 2004-05 % IRE F=ram Fe=ar g9me 2
(A) R (B) UTE

(C) 3T u=wr (D) 3mEm

Tt o=t Bt 9 2004-05 & SR o FETaT T Pl STERE B (STT 9 FT) J Fated a7
(i) TR (i) eI

(i) e (iv) sRamm

(A) 11 11 v 1

(B) i i i iv

(©) iv i ii o iii

D) i i iv i

frfefad 5 9 69 T 3 99 1973-74 T 99 2004-05 T FE=ar 9§ Y=g ST 39S
(A) HA (B) UuE

(C) e (D) 3T TR
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